Math 121 Sec FO9NO5 - Test 1

Oct 5 2009

Question 1:

(a)[5 points] Neatly sketch the graph of

f(:c)— 1+ Haxz<-1
T )142? ifz>-—1

(b)[2 points]

Dowmoan b ( — o0, o0)
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(c)[3 points] Use limits to show that Mis not continuous at z = —1 .
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Since '(vv\+.§.(x) %+ lim .H,;)
X=-1 A=

Determine both the domain and the range of the function in (a).
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Question 2:

B) —
(a)[7 points] Let g(z) = 3z?—5z. Evaluate and simplify the difference quotient glz + }i 9(z)

(X“'L»)” (X) o .L_ N
g' e 2 o N [3(X+k) =5 (x +h) —3xl+s’)c]
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(b)[3 points] ' :
Let F(z) = 1/+/1 + +/z. If g(z) = 2* + =z, determine functions f and & so that F = fogoh .
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Question 3:

: . % +2x—38
(a)[5 points] Evaluate the following limit if it exists: lim 15
T— —

= | (x-2) (x+4)
X>2 () (%)
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(b)[5 points] Evaluate the following limit if it exists (the Squeeze Theorem may be useful):

lir%v:c?’ + z2%sin <%> )
o O«vv\} ’X?"‘
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Question 4:
44 -7
(a)[5 points] Bvaluate the following limit if it exists: %111’51 —T_'__ZE—

N \j"f"f""t' -1 i ,’A{L{.;..e +3
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— [{in Y+ ¢ - 9 -
£ (5-6) (et +3)
S T -5+t
€2 (st )(FTTE +H)
[ (m _M -
£y
L;—-@(mq)

- =)
= |19

Evaluate the following limit if it exists:

(b)[5 points] im sin (26) — 6

6—0 sin (36)
[ sin (28) — &
& =0

sin (30)
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Question 5:

223 — 7
(2)[5 points] Evaluate the following limit if it exists: lim - i
z——00 9g3 + 1122 — 7z + /2

e (- 2763"795 +'7=')
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(b)[5 points] Use the Intermediate Value Theorem to show that the equation 2sinz = 7 — 2z
has a solution on the interval [0, 7] .

Let f(x) = lS;b\X—'K + LK,

f(o)= -% |
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